EX27

PREMIUM

9.0

PREMIUM OHC TECHNOLOGY

|5 EX SERE

oooooooooooooooooo
EEEEEE

N EX Series engines are easy to install and offer maximum efficiency, high performance and
impressive power with minimal noise and low emissions.

N With 5 models ranging from 4.3 to 12 horsepower, including a specially tailored all-
season engine, EX Series engines are ideal for use in soil compactors, pressure washers,
generators, water pumps, air compressors, log splitters, lawn and turf seeders and
chippers/shredders.

Overhead Camshaft Engine (OHC) | Horizontal PTO Shaft | Air-cooled, 4-Cycle single cylinder
| Gasoline SPS5 or SPS5-10 | Counter clockwise rotation | Horizontal Draft and Float type
carburettor | Splash lubrification | Transistorized ignition

Specifications

Replace GX270
Bore & Stroke 75 x 60 mm
Displacement 265 cm?
Maximum Output - 4000 RPM 9.0 HP
Continuous Output - 3000 RPM 6.0 HP
Continuous Output - 3600 RPM 7.0 HP

Maximum Torque - 2500 RPM 18.6 N-m

Fuel Tank Capacity 56L

Oil Capacity 1.0L

Recoil Start serial
Dimensions L x W x H 351 x 420 x 410 mm
Dry Weight 21 kg



420(16.54") MUFFLER 351(13.82") (MERIC KEYWAY SHAFT )
270(10.63") MUFFLER COVER 170.8 (6.72")
SPARK PLUG
[ — EXHAUST OUTLET !
-] aa,
o=
K R e =
[em——) -
. o=
a o °© —Dp
20 30 |
= 2
o e
<5 AR g e>
) > o ©
= | ,’ . d = 1l
AE B - ‘ 54
s¢\46.09 | S I PD ———
0.014(5.751") . / 2127 o, = 1
~0.064(5.749") D 5708 q Rp =01 (5.004 ol A
< — L65 (4.9967) s 5 |
(5565521 e s
(6‘,492,,)) 0 : —_
OIL GAUGE SAE B FLANGE g«
O (4-3/8-16 UNC 2B, TAP 0.71" DEEP) - | O
METRIC FLANG 4-M8x1.25-6H 18 DEEP FUEL DRAIN
SAE AFLANG  (4-5/16-24 UNF 2B TAP 0.71" DEEP)
Metric FLANG y 4-M8x1.25-6H 18 DEEP Metric STD 45 63 (248" _107.8 “(4-24")
for Generator and Pump 50t FLANGE (018" || 60 (236, 575 %) 96 |(378)
He 555 42 (165" | | 4.5 50.3
o M8x1.25-6H 35 (©18)  |1%8) 47 Joem)
(138
(m—_Y )
625 005
(0.98") 8 ) d wls
oo = - ol@
= [wese  Tlg / 8l
40 015 8 (025) go = [l 7#'&(
80 z02 (157) z | Loy v 3@ 8 3 §
Nem (015) © T|lor U o=
T 19.0 & =4 ’&L
T T T+ o S 1109
—
e 5 Metric © 25 mm R -CYLINDER CENTER.
WA ”ﬁ Keyway Shaft
6.5
= 2-¢10.5
60 A T ] S METRIC STD MOUNTING FACE | 2| _ . 0a"
b g ol 13 (0.51") (041"
=[5
5e = 2 aile VIEW Z
5.0
- /1
4.0 ONTINOUS OUTP! \
o5 \ [recowmeneo POWER OUTPUTRANGE | T T T T T T T T T T oo S oS o ST T oS T T T e
CYLINDER CENTER
50 SAE B FLANGE SAEMOUNTING FACE, | toasor)  HROEN CEE
93 (3.66") 53(2.09")
u | 722 (284) | [———4<3- MOUNTING HOLE
f v T | | $25.4_ G026 (100) o5 60.5 45
= \ 632 9°° wlyg | (238) 018
5 s \ (0.25") NE - .
5 w0 Jans SAE ¢ 1inch
o
. | —/ Keyway Shaft
| 716-20UNF
. 2B-TAP 28(1.10 INSIDE HOLES
2000 2400 2800 3200 3600 4000
—_— TaporCore) |10 (435
REVOLUTION SPEED RPM ? o 97.2 (383) +01
8 28| 30 || 4.5 (0.18")
2z 18
°|s (
T Y SAE 2-1/4 taper
L / Generator Shaft
i 5/16-24LJNF2E-TAP
18(0.708") DEEP
aper 2-1/4
DLA Version MOUNTING FACE
51.53 107.8 =
1 (50.5) |
35.3
5.5 4.5 i3
25.5 % = -—O
TAPER STAFMNDARD M |
\ _‘—J_‘
)
. 1/5 TAPER ] g
23 I =8 — - ©
o] By L [te]
- / o
© 7 25 CYLINDER|CENTER
33 B
)
M8X1.25-¢10X60° ° NER
— | ),
[N}
I _
PRENIM OHC TEGHNOLOGY VIEW Z e 'I\,‘






